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19. How many advantages does living in the country have?

A. four B. two C. three D. one

20. Why is living in the country safer for young children?
A. Because there are fewer people. B. Because there are few shops.
C. Because there are few services. D. Because there is less traffic.

21. Which of the following statements is NOT true according to the passage?
A. The country is only suitable for retired people B. There are fewer shops and services in the country.
C. It’s hard to find entertainment in the country.
D. People in the country tend to be friendlier than people in the city.
Mark Letter A, B, C or D to indicate the sentence that is closest in meaning to the given one.
22. Although Mary was sick, Mary insisted on going to work.
A. If Mary hadn’t been sick, she would have insisted on going to work.
B. Mary was sickness but she insisted on going to work.
C. In spite of her sickness, Mary insisted on going to work
D. Mary was sick so she insisted on going to work
23. Unless he takes these pills, he won't be better.
A. Unless he doesn’t take these pills, he won’t be better B. If he takes these pills, he won't be better.
C. If he doesn’t take these pills, he will be better. D. He won’t be better if he doesn’t take these pills.
24. Lan broke the glass because of her carelessness.
A. Because Lan was careless, she broke the glass. B. Because Lan did carelessly, so she broke the glass.
C. Because Lan got carelessness, therefore she broke the glass.
D. Because Lan made carelessness, she broke the glass.
25. “Will you help me move the chair, please?” Jane asked me
A. Jane asked me if | helped to move her chair. B. Jane asked me helping to move her chair.
C. Jane asked me whether | help to move the chair. D. Jane asked me to help her move the chair.
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Mark letter A,B, c or D to indicate the word whose underlined part is pronounced differently from that of
the others in each group.

1. A. option. B. question C. federation D. mention
2. A. ordered B. cried C. published D. sprayed

3.A. designer B. mechanic C. engineer D. musician
4. A. carriage B.typhoon C. freedom D. plumber

Mark letter A, B, C or D indicate the word OPPOSITE in meaning to the underlined word.
5. Math and Literature are compulsory subjects with every student in Vietnam.

A. favorite B. love C. optional D. required
6. The boys are fond playing soccer
A. about B. of C. with D. to
7. T can’t go with you because I have to look my younger sisster.
A. about B. after C. for D. at
8. He’s phoning his mother. This is the second time he her this morning.
A. has phoned B. is phoning C. phoned D. is going to phone
9. It takes me fifteen minutes to work every day
A.go B. going C. went D.togo
10. She worried............ about her exam and couldn’t focus on her revision.
A. constantly B. practically C. decidedly D. effectively
11.“ Let me congratulate you on your success in the race” - « ”?
A. You are welcome B. You’re right C. Great idea. D. Thank you.

Mark letter A,B, C or D to indicate the part that is incorrect.



12. The answer were known by most of the class.

A B C D
13. Were you able to find the person who wallet you found?
A B C D

Read the following passage A, B, C or D to indicate the correct word that best completes each blank.

These days it is impossible to open a newspaper without reading about the damage we are doing to the
environment. The Earth is being threatened and the future looks bad. What can each of us do? We cannot
clean up our polluted rivers and seas overnight, nor can we stop the (14) .... of plants and animals. But we
can stop adding to the problem while scientists look for answers. It may not be easy to change your lifestyle

completely. (15) ..... ,some steps are easy to take: cut down the amount of driving you do, or use as little
plastic as possible. It is also easy to save energy, which also (16)...... household bills. We must all make a
personal decision to work for the future of our planet if we want to ensure a better world for our grandchildren.
14.A. appear B. disappear C. appearance D. disappearance

15.A. Because B. But C. Therefore D. Howeve

16.A. reduces B. supplies C. increases D. adds

Read the following passage and mark letter A,B, C or D

Sometimes people add to what they say even when they don’t talk. Gestures are the “silent language” of
every culture. We point a finger or move another part of the body to show that we want to say. It is
important to know the body language of every country or we may be misunderstood. In the United states ,
people greet each other with a handshake in a formal introduction. The handshake must be firm. If the
handshake is weak, it is a sign of weakness or unfriendliness. Friends ma place a hand on the other’s arm or
shoulder. Some people, usually women, greet friend with hug. Space is important to Americans. When two
people talk to each other, they stand two and half feet away at an angel, so they are not facing each other
directly. Americans get uncomfortable when a person stands too close. They will move back to have space.
If Americans touch another person by accident, they say, “ Pardon me” or “excuse me.” Americans like to
look the other person in the eyes when they are talking. If you don’t do so, it means you are bored, hiding
something, or are not interested. But when you stared at someone, it is not polite. Learning a culture’s body
language is sometimes confusing. If you don’t know what to do, the safest thing is to do is to smile.
17.What can be the best title of the passage?

A. Body language C. Greeting Others in Americans

B. Americans’ language. D. “ Silent language” of American Culture.
18. According to the passage, in an informal introduction, Americans greet each other..................
A. by facing each other directly. C. by placing a hand on each other’s arm or shoulder.

B. with a handshake. D. by looking the other person in the eyes.

19. In the context of the passage, what does “ by accident” mean?

A. intentionally C. voluntarily

B. deliberately D.unintentionally.

20. Which of the following is false ?

A. It is important to know the body language of every country.

B. When Americans talk to each other, they do not face each other directly.

C. To Americans, if you look the other person in the eyes when you are talking, it means you are bored,
hiding something or are not interested.

D. Americans feel uncomfortable when a person stand too close.

21. From reading the passage, it seems that.........

A. learning a culture’s body languages is always embarrassing.

B. every culture has its own body language.

C. every country has the same “ silent language”

D. people shouldn’t talk because their gestures are meaningful.

Mark letter A, B, C or D to indicate the sentence that is closest in meaning to the given one.
22. We couldn’t go swimming because the sea was too rough.



A. The sea was not calm. However, we still went swimming

B. We could go swimming because of the rough sea.

C. We went swimming although the sea was very rough.

D. The sea was very rough. Therefore, we couldn’t go swimming.

23. It was raining heavily. My close friend went to school.

A. Though it was raining heavily, my close friend went to school.

B. It was raining hard, so my close friend went to school.

C. My friend didn’t go to school though it was raining heavily.

D. Because it was raining heavily, my close friend went to school

24. Hurry up or we will miss the train.

A. If you will hurry up, you won’t miss the train. B. If you hurry up, you will miss the train.
C. If you don’t hurry up, you will miss the train. D.If you won’t hurry up, you will miss the train

25. This bag is more beautiful than that one.

A. That bag is not as beautiful as this one. B. This bag is as beautiful as that one.

C. That bag is more beautiful than this one. D. That bag is as beautiful as this one
DE 8

*Mark letter A, B, C, or D to indicate the word whose underlined part i in each group.

1.A.intestine B.mind C.spine D.reliable

2.A.angry B.needy C.supply D.country

*Choosethewordthatitsmainstressisplaceddifferentlyfromtheothers.

3.A.successful B.announcement  C.ignorant D.experience

4.A.disadvantaged B.environment C.advertisement D.unfortunate

Mark letter A, B, C, or D to indicate the correct preposition that completes the sentence.

5.Thunder kept me sleeping well at night.

A for B.off C.from D.over

6. That is your response this forum.

A.about B.for C.with D.to

Mark letter A, B, C, or D to indicate the word SIMILAR in meaning to the underlined word.

7. Mother Teresa devoted herself to caring for the sick and the poor.

A. spent B. contrituted C. gave up D. dedicated

Mark letter A, B, C, or D to indicate the correct word or phrase to complete each of the sentences.
8.Luckily,I got some advice on how to make a presentation non‘For a better
community’frommyclassteacher.

A.useless B.useful C.usefulness D.uselessness

9.These children encounter many problems and really need our help.
A.disadvantaged B.advantaged C.disadvantage D.advantage

10.I’ve been a night owl ___ up late for years,hitting the sheets any time between 12 and 3a.m
A finishing B.getting C.staying D.waking

11.Listen!There's some one at the door.I ___the door for you.

A.am going to open B.am opening C.open D.will open

Make letter A, B, C or D to indicate the part that is incorrect.
12. The teacher suggested that | could buy a good dictionary.

A B C D
13. Measles are an infectious disease that causes fever and small red spots.
A B C D

*Read the following passage and mark letter A, B, C, or D to indicate the correct word that best completes
each blankindicatethe

Our oceans are becoming extremely polluted.most of this pollution comes(14)...... the land,which
means it comes from people .firstly ,there is raw sewage,Which is pumped directly into these



a.Many counties,(15) developed and developing ,are guilty of doing this.Secondly,ships
drop about 6 million tons of garbage into the sea each year. Thirdly,(16).......... are oil spills from
ships. A ship has an accident and oil leaks from the vessel .This not only pollutes the water,but it
also Kkills marine life Next, there are waste materials from factories. Without proper regulations
,factory owners let the waste run directly into the rivers,which then leads to the sea.

And unfortunately,oil is washed from the land.This can be the result of carelessness or a
Deliberate dumping of waste.

14.A for B.by C.from D.with
15.A.between B.both C.consist D.with
16.A.there B.they C.you D.we

Read the following passage and mark the letterA,B,CorD
WITCH DOCTORING
Many early ideas about the causes and cures of illness seem ridiculous to us today. Yet in some respects the
medicine man of uncivilized tribes used method for curing sick persons which are now known to have had
real value.
In early times when people became ill, they turned for help to the medicine man of the tribe. It was
generally believed that sickness was caused by evil spirits, and it was the medicine man’s task to drive these
bad spirits out of the sick man. To do this, he would try to frighten them away by making loud noises and
wearing frightful masks. Usually he would chant magic words, sing special songs, and perform special
dances. Nearly always he used a particular kind of plant which was supposed to be a remedy for a particular
sickness.
Some of these cures used by the medicine men did help. The plants which these early doctors used were
frequently drugs now understood to be medicinal or pain-relieving. The respect and confidence which the
people had in their medicine man gave sick persons hope and helped them feel better.
17.While not directly stated, it can be reasoned from the article that .
A.witch doctors have always failed B.witch doctors have never failed
C.witch doctors might have cured some people  D.witch doctors were really ridiculous people
18.The article as a whole is about
A.medicinal plants B. uncivilized doctoring
C.magic chants D. sick tribe people
19.Which of the following sentences is TRUE?
A.Medicine men always worked in silence.
B.Medicine men sang to invite back the Spirit of Health.
C.Medicine men wore masks to frighten the sick person.
D.The life of tribal people in early times was very hard.
20.Which of the following sentences is NOT TRUE?
A.Savage tribes believed that illnesses were caused by evil spirits.
B.Medicine men often used special plants in making their cures.
C.Everything that medicine men did is now known to be dangerous.
D.Medicine men sometimes performed dances.
21.The word “them” in the second paragraph refers to :
A.evil spirits B.sick persons
C.other medicine men D.magic words
Make letter A, B, C or D to indicate the sentence that is closest in meaning to the given one.
22. No matter how hard I tried, | couldn't open the door.
A. Although I tried very hard, I couldn't open the door.B. Although I tried very hard, | could open the door.
C. In spite of | tried very hard, | couldn't open the door.D. | couldn't open the door, even though trying very
hard.



23. | am too old now; otherwise, | will apply for that post. Dk 2

A. If | were not too old, I would apply for that job.  B. If I would not be too old, | would apply for that job.
C. If I was not be too old, I will apply for that job.  D. If I am not too old, | will apply for that job.

24. My sister lives far from home. She doesn’t have a mobilephone to call up the relatives.

A. She wishes she had a mobile phone to call up the relatives.

B. She wishes she has a mobilephone to call up the relatives.

C. She wishes she would have a mobilephone to call up the relatives.

D. If only she would have a mobilephone to call up the relatives.

25.The toy cat is 50.000 dong. The toy dog is, too.

A The toy dog is different from the toy cat. B. The toy dog is the same price as the toy cat.
C. The toy cat is more expensive than the toy dog. D. The toy cat is not as expensive as the toy dog.
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Mark letter A, B, C, or D to indicate the word whose underlined part is pronounced differently from that
of the others in each group.

1. A. suggestion B. edition C. pollution D. limitation
2. A. bulb B. plumber C. bill D. label

3. A. monster B. button C. failure D. canal

4, A. politics B. deposit C. conception D. expensive

Mark letter A, B, C, or D to indicate the word SIMILAR in meaning to the underlined word.
5.She had a cozy little apartment in Boston.

A. large B. warm C. few D. small
Mark letter A, B, C, or D to indicate the correct preposition that completes the sentence.
6. | tried to prevent the dog running into the fence.
A. against B. to C. from D. for
7. She got married the age of 25.
A.on B. of C.in D. at
8. He has been very interested in doing research on since he was at high school.
A. biology B. biological C. biologist D. biologically
9. , women are responsible for the chores in the house and taking care of the children.
A. On tradition B. Traditionally C. Traditional D. With traditional
10. The wedding party held at the Rex Hotel, now.
A. is being B.is C. will be D. is going to be
11. Minh: “Let me congratulate you on your nomination. ”Nam: “ ”
A. Well done. B. That’s an excellent nomination.
C. Thank you very much. D. Congratulations!

Make letter A, B, C or D to indicate the part that is incorrect.
12. 1tis her dog that often bite people.

A. that B. it C. bite D. her
13.That is the girl whom I love her very much
A. love B. whom C. the D. her

Read the following passage and mark letter A, B, C, or D to indicate the correct word that best completes
each blank.
Our oceans are becoming extremely polluted. Most of this pollution comes from the land, which (14)
it comes from people. Firstly, there is raw sawage, which is pumped directly into the sea. Many countries,
both developed and developing, are guilty of doing this. Secondly, ships drop about sixmillion tons of garbage
into the sea each year. Thirdly, there are oil spills from ships. A ship has an accident and oil leaks from the
vessel. This not only pollutes the water, (15) it also kills marine life. Next, there are waste materials from
factories. Without proper regulations, factory owners let the waste run directly into the rivers, which then
leads to the sea. And finally, oil is washed from the land. This can be the result of (16) __ or a deliberate
dumping of waste.



14.  A. mean B. means C. is meaningD. meant

15. A.so B. and C. but D. then

16.  A.care B. careless C. carelessly D. carelessness
Read the following passage and mark letter A, B, C, or D

Fiction is the writing of a story or text that is not true. It can be written in the form of either poetry or
prose. Poetry is a style of writing in which short lines form verses. Often, words at the end of these lines
rhyme, like "bed" and "red." We call a group of verses about one subject a "poem." Prose writing does not
have verses, nor does it rhyme. It uses sentences and paragraphs. Prose is used in magazine articles,
newspaper stories, short stories, and books.

Prose fiction has existed since ancient times, but most early fiction was actually written as poetry.
Scholars disagree about the date of the first prose fiction book, or novel. Some scholars classify fictional
stories from ancient Greece and Rome as the earliest novels. Others claim there were novels in Asia as early
as the 6™ century. These early novels were mostly short adventure stories about fictional characters.

In Europe, prose fiction began to seriously challenge poetry in the 16" century. A Spanish author,
Cervantes, wrote Europe's first prose novel in the early 1600s. However, longer novels, like Cervantes's Don
Quixote, did not become very popular until the 1700s. By that time, there were more printing presses, and
more people knew how to read. In addition, more people had money to buy these books. Today, the vast
majority of fiction is written in prose rather than in poetry.

17. What does the word "It" in paragraph 1 refer to?

A. Fiction B. Non-fiction C. Poetry D. Prose Question
18. What can we learn about newspaper stories from paragraph 1?

A. They are usually written in paragraphs. B. They are usually written in verse.

C. They are usually written in rhyme. D. They are usually written by scholars.
19. The word "classify™ in paragraph 2 is closest in meaning to

A. write B. call C. teach D. learn

20. What can be inferred from the second paragraph?

A. The date of the earliest known novel is not easy to determine.

B. Prose fiction has been very popular since long ago.

C. Poetic fiction has not been around since ancient times.

D. The date of the earliest known novel is the sixteenth century.

21. The topic discussed in paragraph 3 is about :

A. when poetry became dominant in Europe. B. when Cervantes became an important author.
C. when prose began in Spain. D. when prose became dominant in Europe.
Make letter A, B, C or D to indicate the sentence that is closest in meaning to the given one.

22. She asked me: “Why do you have to do this work?

A. She asked me why | had to do that work. B. She asked me why | did have to do that work.
C. She asked me why do | have to this work. D. She asked me why I have to do this work.
23. She often goes to school late because she lives very far from school.

A. As she lives very far from school, so she often goes to school late.

B. Since she often goes to school late, she lives very far from school.

C. She lives very far from school, so she often goes to school late.

D. She lives such far from school that she often goes to school late.

24. He is too short to play basketball. A. If he is not short, he could play basketball.
B. If he were not short, he could play basketball. ~ C. If he were not short, he will play basketball.
D. If he were short, he could play basketball

25. No one in our class is as intelligent as Vinh.  A. Vinh is twice as intelligent as we are in our class.
B. Vinh is more intelligent in our class. C. Vinh is the most intelligent boy in our class.
D. The more intelligent Vinh is, the more intelligent we are.

DE 10



Choose the word in each group that has the underlined, italic part pronounced differently

1.A. dripped B.racked C.replaced D.received
2. A. bread B. break C. steak D. great
3. A.pleasant B. famous C. suppose D. mother
4. A. amazing B. following C. covering D. finishing
Mark letter A, B, C or D to indicatethe correct preposition or adverb
5. 1 was very impressed the efficiency of the staff
A.to B.on C. by D. in
6. The material called jeanwas named sailors from Genoa.

A, after B. as C.of D. out

Mark letter A, B, C or D to indicatethe word SIMILAR in the meaning
7. People were arriving in great numbers.

A.small B. large C. little D. unknown

8. It started raining an hour ago. Has it stopped ................ yet?

A.to rain B. rained C. raining D. rain

9. Was that movie for an Oscar?

A taken B.accepted C. recognized D. nominated

10. This caris ............ than mine.

A.not so expensive B. as expensive C. more rich D. less expensive

11. Dick: “Do you mind if I open the window?” Mary: . It’s raining

A. I’d prefer you didn’t ~ B. I’d prefer you did C. Go ahead D. Yes, please

Mark letter A, B ,C or D to indicate the part that is incorrect
12. Lan and Huong are really interesting in playing chess.

.In B.are C. Interesting D. playing
13. The consultant which was hired to advise us never really understood our situation.
A.uUs B. to C. which D. understood

Read the following passage and mark letter A, B, C, or D

Everyone wants to reduce pollution. But the pollution problem is as complicated as it is serious. It is
complicated (1) much pollution is caused by things that benefit people. For example, exhaust
from automobiles causes a large percentage of all air pollution. But the automobiles provide transportation
for millions of people. Factories discharge much of material that pollutes air and water, but factories give
employment to a large number of people.
Thus, to end or greatly reduce pollution immediately, people would have to stop using many things that
2 them. Most of the people do not want to do that, of course. But pollution can be gradually
reduced in several ways. Scientists and engineers can work to find ways to lessen the amount of pollution that
such things as automobiles and factories cause. Governments can pass and enforce laws that require

businesses and (3) to stop, or cut down on certain polluting activities.
14. A. that B.so C. because D. while

15. A. benefit B. harm C. motivate D. encourage

16. A. surroundings B. individuals C. traffic D.commercials

Read the following passage and mark letter A, B, C, or D

Today I'd like to begin a discussion on the problem of the heating up the earth. First, we'll touch on the
relationship between fluorocarbons and the ozone layer. You probably remember that the ozone layer is the
protective shield around the earth. It is important to all life, because it filters out harmful ultraviolet light
from the sun. Ozone itself, a form of oxygen, is regularly made by the action of the sun in the upper
atmosphere. It is also regularly destroyed by natural chemical processes.

The problem now is that too much of the ozone layer is being destroyed. Scientists suspect that certain
chemicals, such as fluorocarbons, are contributing to the depletion of the ozone layer. And how do we use
fluorocarbons? The most common uses are in spray cans and cooling systems. The chemical pollution from
these fluorocarbons can account for some of the ozone losses that have been reported. There are, however,



new studies linking the sun itself to the depletion of the ozone layer. We'll go into that new study more next
time.

17. Who is the most likely speaker?

A. A mechanic B. Adoctor C. A professor D. A chemist

18. What is the speaker’s main topic?

A. Air-conditioning systems B. Ultraviolet light C. The use of spray cans

D. Fluorocabons and the ozone layer

19. What is the most important purpose of the ozone layer?

A. Protecting the earth B. Providing fluorocabons

C. Shielding the sun D. Destroying chemicals

20. What is the ozone layer made from?

A. Shields B. Fluorocabons C. Oxygen D. Ultraviolet light

21. What will the speaker probably discuss next?

A. The sun as a cause of ozone layer depletion. B. How to make air conditioners with fluorocabons
C. Harmful effects of ultraviolet light. D. The make-up of the ozone layer

Make the letter A, B, C or D to indicate the sentences that is CLOSET in meaning
Question 22: The policeman said, “Please show me your driving license.”

A. The policeman ordered me to show him my driving license.

B. The policeman asked me to show him your driving license.

C. The policeman asked me show him my driving license.

D. The policeman ordered me to show him your driving license.

Question 23: Although his leg was hurt, he managed to drive a car.

A. His leg was hurt. However, he managed to drive a car.

B. Despite his hurt leg, he managed to drive a car.

C. His leg was hurt. But he managed to drive a car.

D. In spite of the fact that his hurt leg, he managed to drive a car.

Question 24: She doesn’t have much money now, but she wants to buy a house in Vinhomes.
A. If she had much money, she will buy a house in Vinhomes.

B. If she has much money, she will buy a house in Vinhomes.

C. If she had much money, she would buy a house in Vinhomes.

D. If she has much money, she wants to buy a house in Vinhomes.

25: He doesn’t have a stylist tie and he wants to have one very much.

A. He wishes he had a stylist tie. B. He wishes that he has a stylist tie.

C. He wishes to be had a stylist tie. D. He wishes he will have a stylist tie.
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Mark letter A, B, C, or D to indicate the word whose underlined part is pronounced differently
1.A. individual B. procedure C. education D. productive

2. A. wicked B. wanted C. needed D. filled

Mark letter A, B, C, or D to indicate the word whose main stress position is placed differently
3. A. regularly B. ordinary C. efficiency D. friendliness

4. A. celebration B. television C. innovation D. limitation

Mark letter A, B, C, or D to indicate the correct preposition that completes the sentence.

5. My sister is very fond eating chocolate candy.

A. at B. about C.of D. with

6. If we keep using more and more cars, we'll run out of gas.

A.in B. on C. off D. away

7. Mark letter A, B, C, or D to indicate the word OPPOSITE in meaning to the underlined word.
That is a well-behaved boy whose behavior has nothing to complain about.

A. good behavior  B. behaving nice  C. behavingcleverly D. behaving improperly

8. Mark letter A, B, C, or D to indicate the correct word or phrase to complete each of the sentences.




He has been very interested in doing research on since he was at high school.

A. biologically B. biological C. biologist D. biology

9.The old shoes at the moment.

A. have been polished  B. are polished C. are being polished D. will be polished
10. When | was at the primary school, my grandmother __ me to school.

A. is taking B. used to take C. takes D. was taking

11. John: “I’ve passed my final exam”. Sarah: “ ”

A. | know. Thanks. B. Good luck! C. You’re welcome D. Congratulations!

Make letter A, B, C or D to indicate the part that is incorrect.
12. Air pollution, together with littering, are causing manyproblems in our large, industrial cities today.

A. many B. are C. with D. in our large
13. She gives her children everything they want.
A. who B. that C. whom D. what

Read the following passage and mark letter A, B, C, or D

Most people think of computers as very modern inventions, products of our new technological age. But
actually the idea for a computer was (14) out over two centuries ago by a man called Charles
Babbage. Babbage was born in 1791 and grew up to be a brilliant mathematician. He drew up plans for several
calculating machines (15) he called “engines”. But despite the fact that he started building some of
these, he never finished any of them. Over the years people have argued whether his machines would ever
work. Recently, however, the science Museum in London has finished building an engine based on of
Babbage’s designs. It has taken 6 years to complete (16) more than four thousand parts have been
specially made. Whether it works or not, the machine will be on show at special exhibition in the science
Museum to remind people of Babbage’s work.

14. A. turned B. thought C. invented D. worked
15. A. machines B. engines C. plans D. designs
16. A. and B. so C. but D.or

Read the following passage and mark letter A, B, C, or D

The nuclear family, consisting of a mother, father, and their children, may be more an American ideal
than an American reality. Of course, the so-called traditional American family was always more varied than
we had been led to believe, reflecting the very different racial, ethnic, class, and religious customs among
different American groups.

The most recent government statistics reveal that only about one third of all current American families
fit the traditional mold and another third consists of married couples who either have no children or have none
still living at home. Of the final one third, about 20 percent of the total number of American households are
single people, usually women over sixty-five years of age. A small percentage, about 3 percent of the total,
consists of unmarried people who choose to live together; and the rest, about 7 percent are single, usually
divorced parents, with at least one child. Today, these varied family types are typical, and therefore, normal.
Apparently, many Americans are achieving supportive relationships in family forms other than the traditional
one.

17. With what topic is the passage mainly concerned?

A. The current American family B. The nuclear family

C. The traditional American family D. The ideal family

18. The writer implies that :

A. racial, ethnic, and religious groups have preserved the traditional family structure.
B. there has always been a wide variety of family arrangement in the United States.

C. the ideal American family is the best structure. D. fewer married couples are having children.
19. The word “current” in line 7 could best be replaced by which of the following?
A. traditional B. typical C. perfect D. present

20. In the passage, married couples whose children have grown or who have no children represent
A. 1/3 percent of households. B. 20 percent of households.



C. 7 percent of households. D. 3 percent of households.

21. Who generally constitutes a one-person household?

A. An elderly man. B. A single woman in her late sixties.

C. A single man in his twenties. D. A divorced woman.

Make letter A, B, C or D to indicate the sentence that is closest in meaning to the given one.
22. She asked me: “Why do you have to do this work?”

A. She asked me why | did have to do that work. B. She asked me why I had to do that work. C.
She asked me why do | have to this work. D. She asked me why | have to do this work.
23. She often goes to school late because she lives very far from school.

A. She lives very far from school, so she often goes to school late.

B. As she lives very far from school, so she often goes to school late.

C. Since she often goes to school late, she lives very far from school.

D. She lives such far from school that she often goes to school late.

24. He is too short to play basketball.

A. If he were short, he could play basketball. B. If he were not short, he could play basketball.
C. If he is not short, he could play basketball. D. If he were not short, he will play basketball.
25. They spent more money, they had to work harder.

A. The much money they spent, the harder they had to work.

B. The more money they spent, the hard they had to work.

C. The more money they spent, the harder they had to work.

D. The more money they spent, the hardest they had to work.

DE SO 12

Mark letter A, B, C, or D to indicate the word whose underlined part is pronounced differently from
that of the others in each group.

1. A. south B. drought C. southern D. cloudy
2. A. shaped B. hired C. experienced D. laughed
3. A. snowstorm B. tornado C. predict D. eruption
4. A. protection B. pollution C. production D. dynamite
Mark letter A, B, C, or D to indicate the correct preposition that completes the sentence.

5. My mother always picks me from school at 5 p. m.

A. out B. off C.up D. in

6. | congratulate Mai passing the exam.

A. on B. In C. for D. about

Mark letter A, B, C, or D to indicate the word OPPOSITE in meaning to the underlined word.
7. What benefits does TV bring about to people life?

A. experiences B. disadvantages C. programmes D. conveniences
8. It rained while we well.
A. had slept B. slept C. have slept D.were sleeping
9. Solar energy doesn’t cause...........
A. pollution B. polluted C. pollute D. pollutant
10. If John were here now, he me with the work.
A. will help B. would help C. may help D. helps
11. Mai: “I passed the driving test yesterday.” --- Lan: “.................... 17
A. Have a good time. B. With pleasure. C. Congratulations. D. You“re welcome.
12. Writing a lot of letters make her tired.
D. alot of B. tired C. writing D. make
13. The men and animals which you saw on TV were from China.
A. which B. saw C. were D. from

Read the following passage and mark letter A, B, C, or D to indicate the correct word that best completes
each blank.



Television is one of man’s most important means of communication. It brings events and sounds
(14) around the world into millions of homes. A person with a television set can sit in his house and
watch the President making a speech or visit foreign country. He can see a war being fought and watch
statesmen try to bring about peace. Through television home viewers can see and learn about people, places,
and things all over the world. TV even takes its (15) out of this world. It brings them coverage of
America’s astronauts as the astronauts explore outer space. In addition to all these things, television brings
its viewers a steady stream of programs that are made to entertain. In fact, TV provides

(16) entertainment programs than any other kinds. The programs include action-packed dramas, light
comedies, sporting events and motion pictures.

14. A. to B. at C.in D. from

15. A. seers B. viewers C. lookers D. watchers

16. A. many B. much C. more D. most

Read the following passage and mark letter A, B, C, or D to indicate the correct answer to each of the
questions that follow.

I often hear of read about “natural diasters” — the eruption of Mount St. Helen, a volcano in the state
of Washington; Hurricane Andrew in Florida; the floods in the American Midwest; terrible all over the world;
huge fires; and so on and so on. But | will never forget my first personal experience with the strangness of
nature — “the London Killer Fog” of 1952. It began on Thursday, December 4th, when a high — pressure
system (warm air) covered Southern England. With the freezing — cold air below, heavy fog formed. Pollution
from factories, cars and coal stoves mixed with the fog. The humidity was terrible high, there was no breeze
at all. Traffic (cars, trains, and boats) stopped. People couldn’t see, and some walked onto the railroad tracks
or into the river. It was hard to breath, and many people got sick. Finally, on Tuesday, December 9th, the
wind came and the fog went away. But after that, even more people got sick. Many of them died.

17. Which “natural disaster” isn’t mentioned in the text?

A. avolcano B. a flood C. ahurricane D. a tornado
18. What is his unforgettable personal experience?

A. the London killer B. the heavy fog in London in 1952

C. the strangeness of nature D. a high — pressure system

19. How long did the “London Killer Fog” last?

A. for four days B. for five days C. for six days D. for a week
20. What didn’t happen during the time of “London Killer Fog?

A. heavy rain B. humidity C. pollution D. heavy fog
21. Why did the traffic stop?

A. Because of the rain. B. Because of the windy weather.

C. Because of the humid weather. D. Because of the heavy fog.

Make letter A, B, C or D to indicate the sentence that is closest in meaning to the given one.

22. She doesn’t know English but she lives in England.

A. Although she doesn’t know English, but she lives in England.

B. Although she doesn’t know English, she lives in England.

C. Because she doesn’t know English, she lives in England.D. If she knows English, she will live in ngland.
23. “Why do you have to do this work?” she asked me.

A. She asked me why I had to do this work. B. She asked me why you have to do that work.

C. She asked me why | had to do that work. D. She asked me why | have to do that work.

24. Jack plays tennis the best in class.

A. No one in the club plays tennis as well as Jack. B. Jack plays tennis better and better.
C. Jack plays tennis not worse than anyone in the club. D. No one can beat Jack at tennis.

25. Water these plants or they will die.

A. If you are watering these plants, they will die. B. If you water these plants, they will die.

C. If you did not water these plants, they will die. D. If you don’t water these plants, they will die.



